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SN BA(SA) - MRAY - BES 0l &t o il HImEET

Al 1,050

11T MISXASEX 7,000 7,000 0
Od=Z"HIIchA Mzggls T2 7,000
J| 4,900
< 1,050
Al 1,050

SEZSOGHA 2lZ28l,2-88 XI& 5,277 5,277 0
J| 3,694
< 1,583

307 21201 A 5,277 5,277 0
J| 3,694
< 1,583

01 9 2¥ 72| 5,277 5,277 0
OdZA0ci At 2 =28l ,2tEHl X 5,277
J| 3,694
= 1,583

HAEZHZ2EAE SARN IS HRMA(ZHIES 145,577 148,870 A 3,293
< 29,115
Al 116,462

307 gl & 145,577 148,870 A 3,293
< 29,115
Al 116,462

10 AL SXNAIEEE2EHEX 145,577 148,870 N 3,293
OWLEZHAHANE SAX JI2S2HRMA 145,577
< 29,115
Al 116,462

HAEZHZ2ABEAE ML 2 (ZHIEX) 46,800 46,800 0
< 14,040
Al 32,760

307 21201 A 46,800 46,800 0
< 14,040
Al 32,760

10 ALSISEXAIEEE2EHEX 46,800 46,800 0
OEESAE SAX =& 46,800
< 14,040
Al 32,760

ZHUod =AHXNE S2EHl 36,629 35,461 1,168
J| 25,640
< 5,495
Al 5,494

307 21201 A 36,629 35,461 1,168
J| 25,640
= 5,495
Al 5,494

11T AL S XAEE = 36,629 35,461 1,168
OZdIloiHE =AHAJ 24l 36,629
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 25,640
< 5,495
Al 5,494
ZATN0E F=HAA 2LXNADJIsEL) 3,500 0 3,500
J| 3,500
402 2I2HXHE01 M 3,500 0 3,500
J| 3,500
02 QI E2AISEZ (OIS ) 3,500 0 3,500
OZgIlold =AHAE dUHES2S 3,500
J| 3,500
OtsHEHMRAAN 2GS 43t 1,400 1,400 0
201 L4 1,400 1,400 0
01 At 22l 1,400 1,400 0
OOsHLEtMXAA 3o &
70,0003 = 209 « 13 1,400
OtsSHEHERGAH2 Y 6,000 7,000 A1,000
= 1,800
Al 4,200
307 glz2tol & 6,000 7,000 A 1,000
< 1,800
Al 4,200
11T MIZSXASEEX 6,000 7,000 21,000
OOtsH&d X9l 29 6,000
= 1,800
Al 4,200
S EZSEZ2ENA 7,000 7,000 0
< 2,100
Al 4,900
307 21201 A 7,000 7,000 0
< 2,100
Al 4,900
11T M3 SXAISEEX 7,000 7,000 0
OH0HIH - Hd =& 2 EAMY 7,000
= 2,100
Al 4,900
dH=" oleE & XI= 5,000 5,000 0
201 Let249] 5,000 5,000 0
01 At 22l 4,000 5,000 A 1,000
O4li=3xa oy s 822 WA
2,000& = 1,000 2,000
O4 == Hgns ZAs<
1,000,000& =* 23] 2,000
03 A2 Z HI 1,000 0 1,000




SH: E0IS D
Y e=XET
|

Sl a S (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OOt =0 NIAY
1,000,000 * 13l 1,000
d3oto A4 22l ¥ 22U IO JIEH 3,200 0 3,200
At X &
201 et 500 0 500
02 22224l 500 0 500
OZstoalda A2l 500
307 21201 A 2,700 0 2,700
04 DIZHHALALSE E X 2,700 0 2,700
OLEZRHR Tt I A 2,700
AMEIEXAE XA 40,493 40,493 0
201 LB-2d| 860 860 0
01 At 2t 2l 860 860 0
OMSIEXAE tEFZ==2 860
307 21201 A 39,633 39,633 0
11 AISI S XA E X 39,633 39,633 0
OUAE=HMZE Y PFAS (AHALYE
Abe) 38,033
- 243l 6,350
- =2 10,000& = 19 » 365¢ 3,650
- dEgo"gII2g 25,433,000& » 14H 25,433
- dgolEasy 200,000& = 1H = 12& 2,400
- dEgosEdEEL~E 100,000 * 1H » 23] 200
OZ2SU™ 0l EX MAHUI
8,000& = 201 = 100 1,600
NEZLUHNNESAE MII=SRRA S A 15,112 0 15,112
301 LPENF 15,112 0 15,112
0B M ELRIBAS 15,112 0 15,112
ONEZHINNESAE ANIISRLA(ES,
wEl,o=l) 7,555,800& » 29H 15,112
G RSRE S PNR 136,412 142,950 26,538
He=sX32 X 22,840 23,370 A 530
201 L2l 80 610 A 530
02 =224l 80 80 0
O&g=EXaa nsxLYFE3 80
307 21201 A 22,760 22,760 0
11T MISXAISEEX 22,760 22,760 0
O&=EXza Z27d 2Y 22,760
d&ELlLs HA 96,000 96,000 0
201 £B-2dH| 96,000 96,000 0
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Y e=XET

S SN XA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 A2 I 96,000 96,000 0
OAtgel A& LIS A 96,000
A9 AlE=E XA 17,572 23,580 A 6,008
307 gizto| A 17,572 23,580 6,008
02 QI2tAAMAIE E =X 13,572 19,580 A 6,008
OIIE&Z Hdolss AU 1,620
OA&de "2 2,592
OJltd=ZgIoll ols. 3432 fst HE sts
AFE H| 1,260
OdalXY AKX Qg =2 42 st
E 2 AL HI 2,700
O aatzs st G203 ArgI 2,700
OUZSA dHTFS A= 2,700
11T AISIEXAIEEX 4,000 4,000 0
ORIyt 24 4,000
ors=exsd 54,973,659 54,612,239 361,420
= 33,075,391
= 5,057,308
Al 16,840,960
BSANE XA 1,617,979 1,567,649 50,330
= 769,695
& 139,645
Al 708,639
BSaOls MNE XS ALY 96,800 111,800 A 15,000
= 29,040
Al 67,760
301 dEtE M= 96,800 111,800 A 15,000
= 29,040
Al 67,760
01 Al B & A 462 96,800 111,800 A 15,000
OJIE/AENL FEAHZ2 X
100,000 = 115MICH = 23] 23,000
= 6,900
Al 16,100
OFRF8 JIEAEAMU AMHl X 24,000
= 7,200
Al 16,800
B30t 12 1442A 28D) 600,000 = 5H 3,000
&< 900
Al 2,100
O BSOS 24 X2
30,000& = 130¥ * 12& 46,800
&< 14,040
Al 32,760
IIE/AEOIs &d=d A& 234,000 187,200 46,800
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X ZH
S =

& ots

2stiaots X

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O0sSH&d HE=-EUa AR 24
40,0003 * 60 2,400
OsHd Tisl AR 24
70,000& = 309H 2,100
OOSsla e A3s HAT 24
70,000& = 109H 700
OXOtESZ e STMEBE It 24
70,000& = 109H 700
307 gl2tol & 13,600 13,600 0
04 DI2HHALALSE E X 13,600 13,600 0
O0sH& SAY & XIE 23H N2 7,200
ZH0ls M Gl=s 32 5,400
OflotEsAs 29 1,000
Ors?d =&X& 12,000 12,000 0
< 2,400
Al 9,600
301 LBEXZ 12,000 12,000 0
< 2,400
Al 9,600
12 JIEtE4 S 12,000 12,000 0
O0ts®Id =% K& 200,000& * 609 12,000
< 2,400
Al 9,600
Au=dt=a XA 6,000 4,000 2,000
< 1,800
Al 4,200
301 LerEBAF 6,000 4,000 2,000
< 1,800
Al 4,200
01 AR 2Z A5 3 6,000 4,000 2,000
Oged=dl=s XA 1,000,000& * 6% 6,000
S 1,800
Al 4,200
QA0ts ISR (S7MOIS Ls2G) 328,650 316,800 11,850
= 230,055
Al 98,595
301 LEd = 328,650 316,800 11,850
= 230,055
Al 98,595
01 MI28E 6= 328,650 316,800 11,850
Oogots s XA (17H018H) 328,650
= 230,055
Al 98,595
BH7MI Ol 2 20ts s+ XA 18,000 27,000 A 9,000
< 7,200




RSN S}
P ots=ENsd
CE2Ssidors K&

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
Al 10,800
301 LEXZ 18,000 27,000
< 7,200
Al 10,800
01 MEIBEZE 05z 18,000 27,000
OSHT7AHIOI & gots 22 KR
150,000& » 10 » 18,000
< 7,200
Al 10,800
AAOIS NEXNA(HOMOIS Y LEAH) 22,298 ,298
- 15,609
Al 6,689
301 LEMZ 22,298 ,298
= 15,609
Al 6,689
01 MEI2EZE 46z 22,298 ,298
OFots PLe=s+5 L 2 2H| 22,298
= 15,609
Al 6,689
YIS NENR(LYH2II2 2K XR) 2,100 1100
= 1,470
Al 630
301 LA S 2,100 , 100
= 1,470
Al 630
01 MEIBEE 263 2,100 , 100
O=HIIA2 XX & 700,000& = 3H 2,100
= 1,470
Al 630
YA0ts HEXNS (YU E XH) 16,200 , 100
= 11,340
< 4,860
301 LeHBAF 16,200 , 100
= 11,340
< 4,860
01 MI2ZHE 6= 16,200 , 100
ogddle & 2,700,000& » 69 16,200
= 11,340
< 4,860
YANHASLOIS HRIXEXH 6,600 200
= 4,620
< 990
Al 990
301 LEAZ 6,600 ,200
= 4,620
= 990




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 990
01 MEIBZE 06z 6,600 2,200 4,400
OgY - II¥=E0s Aelxlg XN 6,600
= 4,620
< 990
Al 990
QRESoIS/=2 3,400 3,800 A 400
= 3,400
301 LA F 3,400 3,800 A 400
< 3,400
01 AR 2Z A5 3 3,400 3,800 A 400
OREsits A2 3,400
< 3,400
otsdd=d 46,588,348 46,020, 866 567,482
= 30,637,878
< 4,081,128
Al 11,869,342
Ots=4 X& 174,565 173,662 903
201 Let24d] 21,493 23,182 A 1,689
01 At 22l 21,493 23,182 A 1,689
OXZGotsHH HXNE AL =25 X
1,485,000,000& * 1% 14,850
OX<ZotsdH 0lE0ts et MHIA XIR
400 * 1,063% = 128 5,103
OOSZAAE BHasg
0,000& = 11H « 23| 1,540
301 LA F 153,072 150,480 2,592
01 Mel28E+dl= 153,072 150,480 2,592
OOtsZAHI (XYL 0otsHE HE) FIHAE
5003 * 1,063E = 288¢ 153,072
Ots24 XN (THE=X) 4,348,100 3,930,750 417,350
< 1,783,100
Al 2,565,000
301 LA F 4,348,100 3,930,750 417,350
< 1,783,100
Al 2,565,000
01 AR 2Z A 53 4,348,100 3,930,750 417,350
Oots=AlHl X (HE, LE) 2,875,600
< 310,600
Al 2,565,000
Oots=AlHl X2 (&= 354)
3,100 = 5,000& * 95¢ 1,472,500
= 1,472,500
Orsotd & WX 13,560 14,930 A1,370




2M: H80tS
HM: OtssXSH
Sl OISAFS Y (S5 &)
5 - 4
SAH-EB .S (3H) - HEAY - BE2 0 AF o il HD=2
201 Bt A | 9,960 11,430 N 1,470
01 AP 2t 2l Yl 9,960 11,430 A 1,470
oot Y s 1,000,000& = 13 1,000
OtssXad/ARS &Y
70,0003 * 9Y * 23] 1,260
Ot oY =225 HE 5,000
-E22 M 500& * 5,000% 2,500
-EB2Z & 500& * 5,000H 2,500
O0tssXAIE MI|EH tNMEH =5 2,700
202 0db] 3,600 3,500 100
01 =2LHOHI 3,600 3,500 100
Oots=X gR =& bl 300,000& = 12Y 3,600
O s X 3,684,000 3,988,800 304,800
301 deEtE X = 3,684,000 3,988,800 A 304,800
01 M EXEE 462 3,684,000 3,988,800 A 304,800
OAlTHOtOl & =Y KA
100,000 = 2,800 = 12& 3,360,000
OAITHOLOl & OFOIANEY A2 &2l XI&
20,000& * 1,350 = 12& 324,000
HelolgaAr RI& 70,150 77,650 AT,500
201 et A | 2,650 2,650 0
03 SHALS H I 2,650 2,650 0
Ooglold =8 s+9 MZE 55,0008 * 300H 1,650
oogloly ==& M 10,000& = 1000H 1,000
307 212t01 & 67,500 75,000 A7,500
04 QIZHSHAFAIE 2 X 67,500 75,000 AT,500
Oooglolg &AL XI& 67,500
ots+g S0N3 38,292,973 37,826,809 466, 164
= 30,634,378
& 2,297,578
Al 5,361,017
301 YEHE A 38,292,973 37,826,809 466, 164
= 30,634,378
& 2,297,578
Al 5,361,017
01 AL B & X £33 38,292,973 37,826,809 466, 164
Otts=Y =0X=Z 38,292,973
= 30,634,378
T 2,297,578
Al 5,361,017
Ols4+% XXM AFE =& 5,000 8,265 N 3,265
= 3,500
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 450
Al 1,050
201 24l 5,000 8,265 N 3,265
= 3,500
< 450
Al 1,050
01 At 22l 5,000 8,265 N 3,265
Oots=+< AMEFZHI(2ZHl) 5,000
= 3,500
< 450
Al 1,050
Ots=XIAIE K& 3,453,514 3,728,760 A 275,246
= 326,489
< 187,727
Al 2,939,298
OtsEXAE 298 XA 2,526,723 2,486,600 40,123
307 21201 A 2,526,723 2,486,600 40,123
10 ALSISEXAIEEE2EHEX 2,451,123 2,387,000 64,123
O0ts=XAIE 2gH XA 2,451,123
11T M SRAISE EX 75,600 99,600 A24,000
O &FE= OlsEM 72 3,600
OA&ots delxizgtdl N&
200,000& = 30 = 12& 72,000
Ots=EXAE 29 NA(ZHEX) 173,800 176,800 A 3,000
< 52,140
Al 121,660
307 glz2+ol & 173,800 176,800 A 3,000
= 52,140
Al 121,660
10 ALSISXAIEEE2EHEX 173,800 176,800 A 3,000
OO0SSXAE SAX =& 173,800
< 52,140
Al 121,660
OlSAIE s & A X 12,000 16,000 A 4,000
307 21201 A 12,000 16,000 A 4,000
02 ItFAAHE X 12,000 12,000 0
OXdotsdy & T2 24 12,000
- X &I 800,000& = 1¥ = 12& 9,600
—Bt= Xt 200,000& = 1H » 123 2,400
REsOts O88 242 N&E 178,326 172,498 5,828
= 71,330
< 42,799
Al 64,197
307 21201 A 178,326 172,498 5,828
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SA-3H-S(3AH) - MRAS - BES Off &t 24
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M
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71,330
42,799
64,197

= Hn

10 A SXAEHE2SEHIEX 178,326 172,498 5,828
OSSHEIHd 2gHl X 178,326
71,330

42,799
64,197

= N H
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il
=)
om
HT
foi
]
Mo
S
=
Mo
02

497,824 488,062 9,762
248,912

74,674
174,238

= HnH

307 glztol & 497,824 488,062 9,762
248,912

74,674
174,238

=z N H

10 ALl SXNAIEEE2EHEX 497,824 488,062 9,762
O0ts23d=2J0/& 224l X& 497,824
248,912

74,674
174,238

= M W

FAHEXNSO0IS TEXNE AL 8,925 21,150 N12,225
6,247
1,339
1,339

= MW

307 21201 & 8,925 21,150 N12,225
6,247
1,339
1,339

= M W

T A S XA E X 8,925 21,150 N12,225
OZHdNsots NBXE AS 8,925
6,247

1,339
1,339

{0

= N W

NeotsEsdEI|2 2L (SHIEX) 55,916 55,916 0

= 16,775
Al 39, 141

307 glztol & 55,916 55,916 0
16,775
Al 39, 141

H

10 A SXAEHE2SHIEX 55,916 55,916 0
dEJ& FI2E4l N3 55,916

16,775
39, 141

= M

ASEotsdE X& 3,292,338 3,248,724 43,614

1,341,329
648,808

Rt
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SN BA(SA) - MRAY - BES 0l &t o e 2
Al 1,302,201
ANSEotsSHH 290 NA(FREX) 2,417,640 2,261,000 156,640
= 1,208,820
< 483,528
Al 725,292
307 glz2tol & 2,417,640 2,261,000 156,640
= 1,208,820
< 483,528
Al 725,292
10 AL SXAIEEE2EHEX 2,417,640 2,261,000 156,640
OXgotsdH Jl=e2dgdl X 2,417,640
= 1,208,820
< 483,528
Al 725,292
XSOtSHE 298 N (SHEXE) 417,200 408,200 9,000
< 109,800
Al 307,400
307 21201 A 417,200 408,200 9,000
= 109,800
Al 307,400
10 ALSISEXAIEEE2GHEX 417,200 408,200 9,000
OXNYotsdEH AR
200,000 81 1201 +100, 000 *81H »23] 210,600
< 63,180
Al 147,420
OXdotsHE FIH2HH (SR 153,600
—302101& Al F=It29Hl 78,000
< 15,600
Al 62,400
—29210lot A4 FIt2ZH| 75,600
< 15,120
Al 60,480
OXZotsdye HLtegdl X 53,000
< 15,900
Al 37,100
KNEotsSHEH 290 XA (XMHA) 192,480 186,000 6,480
307 glz2+ol & 192,480 186,000 6,480
10 ALSISXAIEEE 2 EX 192,480 186,000 6,480
OX<gotsdEH =IO 224l 153,600
— 3021014 A& FIt2gHI
500,000 = 13004 = 12042 78,000
—29210lot Ald FIt2ZH|
300,000& * 21004 1204 75,600
OXY0otsdH SAA X<HAH
40,0008 = 81H = 12& 38,880
S4SHY NAOSHE RN 51,156 65,772 £ 14,616
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

= 25,578
& 10,232
Al 15,346

307 2iz2to| A 51,156 65,772 N 14,616
= 25,578
& 10,232
Al 15,346

10 MM SAANEEHESIHEX 51,156 65,772 N 14,616
S8y 294 A& 51,156
= 25,578
= 10,232
Al 15,346

EQ2Y XNY90tsHE =X 69,312 69,312 0
= 34,656
=} 13,866
Al 20,790

307 QI2t0| & 69,312 69,312 0
= 34,656
= 13,866
Al 20,790

10 Al EXANEEHE2IGH EX 69,312 69,312 0
OERS%dl A& 69,312
= 34,656
& 13,866
Al 20,790

NEotsHE ZAd XS 95,110 130,000 A 34,890
= 47,555
= 19,022
Al 28,533

402 BI2H X201 M 95,110 130,000 A 34,890
= 47,555
== 19,022
Al 28,533

02 CIZEXIE A EX (0| XM THL) 95,110 130,000 A 34,890
OXNOotsHE SHHMNSH XS 95,110
= 47,555
= 19,022
Al 28,533

NEotsHEH 2188 XS 49,440 49,440 0
= 24,720
= 12,360
Al 12,360

307 QI2t0| ™ 49,440 49,440 0
= 24,720
= 12,360
Al 12,360

10 MM SAANEEHESIHEX 49,440 49,440 0

_20_




2N

& ots
os=EXEX

=Ry z
& XFotsdH X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXgotsdE SIEFI XNIEAY 49,440
= 24,720
< 12,360
Al 12,360
tSHCEE 21,480 46,240 A 24,760
OtsSZSE Al =&AL 21,480 46,240 A 24,760
201 L2l 18,800 43,060 A 24,260
01 At 22l 9,800 36,060 A 26,260
OOs&SANZ=AAE 3o 4+
70,000& = 10 = 23] 1,400
Ootsdel 8R2HE &S ¢
70,0002 = 5% « 23| 700
OOSSZAIFE WE LA+E
250,000& * 43 1,000
OOtSE ST Al GlatA 28 2 S22 QA bl
= 20,000& * 160% 3,200
Ottsdcl 228 s HMA
1,000& = 3,000H 3,000
OOSHNE 42F 29 500
02 =24l 5,000 5,000 0
OOSESETANFA XNLHLE2SG A3l
5,000,000& = 13l 5,000
03 A2 S HI 4,000 2,000 2,000
OOsSEHE AIZENH HA2H 2,000
OO0ts&at=Al 245 ?lg Otsd2du=F
200,000& =« 103l 2,000
203 R =&t 1,000 0 1,000
03 AIMF=XH R =ZH| 1,000 0 1,000
OOtsS&StE Al =8 HRF2H| 1,000
301 LA S 1,680 1,680 0
09 #HALAHIXI &3 1,680 1,680 0
O0s&aEHE =l 8,000& = 70H =« 33| 1,680
NHE=XNSH 14,085,684 12,916,937 1,168,747
= 2,280,910
J| 5,204,073
< 1,517,999
Al 5,082,702
A2INHEX A 4,046,840 2,995,704 1,051,136
= 2,280,910
J| 341,655
< 404,769
Al 1,019,506
A0S - UR2SIIEXNJEEH 22 582,000 482,864 99,136
J| 291,000
< 87,300
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el AN CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Al 203,700
307 2iz2to| A 582,000 482,864 99, 136
J| 291,000
= 87,300
Al 203,700
10 MM SAANEEHESIGHEX 582,000 482,864 99,136
OAHLINE - 2sIIEXNSHEH 29| 582,000
J| 291,000
& 87,300
Al 203,700
A2 - U2 IIESXNKLAEH 2SS (MMM H) 85,710 42,660 43,050
201 et | 14,260 16,260 A 2,000
01 AP 2t 2] H| 1,260 1,260 0
O=enel N2 L LAAYAALY AR
2 105,000 = 12& 1,260
02 2324 13,000 15,000 A 2,000
OHdEH 28 3222 13,000
307 2Iz2t0| & 71,450 26,400 45,050
05 QIZ2tREF 2 10,000 9,600 400
OUSSESIHH &9 10,000
10 A SXNANEEHESIGHEX 61,450 16,800 44 650
OAHALINEUSIIIIEXNJANEYH 24 22H 38,050
OALINEXNI =2 LXK 7,000
OUSINENEA= IHAXAA 8,400
OAHLINEUSRIIIENIAHLAH 24 =3P 8,000
ool XI& 3,137,000 2,257,000 880,000
= 2,240,000
= 288,000
Al 609,000
307 2iz2to| & 1,179,000 757,000 422,000
= 840,000
= 108,000
Al 231,000
05 QIZ2tRE 2 1,179,000 757,000 422,000
Ooolssid 29| 1,179,000
= 840,000
o= 108,000
Al 231,000
308 XX SHHSOIH 1,958,000 1,500,000 458,000
= 1,400,000
& 180,000
Al 378,000
11 2SI 2SN USHEAXNE A 1,958,000 1,500,000 458,000
O0loI=EXE o2 1,958,000
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2AM: d-80ts
HM: JIIEEXSA
el AN (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,400,000
& 180,000
Al 378,000
Fo fII0tEF KNJAS 81,820 80,800 1,020
= 40,910
= 12,273
Al 28,637
307 2Iz2t0| A 81,820 80,800 1,020
= 40,910
o= 12,273
Al 28,637
11T AISIEXAIE EX 81,820 80,800 1,020
OF 2 D0t XNEAY 81,820
= 40,910
=} 12,273
Al 28,637
2SF0UsH2YE XNSAY 101,310 84,880 16,430
J| 50,655
= 15,196
Al 35,459
307 QI2t0| & 101,310 84,880 16,430
J| 50,655
& 15,196
Al 35,459
10 A SXNANEEHESIGHEX 101,310 84,880 16,430
O2s=0lU=sH 29 X& 101,310
J| 50,655
= 15,196
Al 35,459
AAINEE LG ALY 10,000 11,000 A 1,000
o= 2,000
Al 8,000
307 2Iz2t0| & 10,000 11,000 A 1,000
o= 2,000
Al 8,000
11 A EXAIEEX 10,000 11,000 A 1,000
OALINEEHs MY 10,000
= 2,000
Al 8,000
IS A ALY X & 24,000 30,000 A 6,000
307 2iz2to| A 24,000 30,000 A 6,000
11T AISIEXAIEEX 24,000 30,000 6,000
OJIEsAGAY X 30,000& * 8003 24,000
ALNAEUSSIINSANILAH JIsEL MY 25,000 0 25,000
401 AlEHIZL 2 0HY| 25,000 0 25,000
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 25,000 0 25,000
OAHLIEURSIE NJAHH JIs2L Mg 25,000
SAEAXNR 1,690,000 1,693,000 A 3,000
< 43,500
Al 1,646,500
ATHOE Ol & SMEAS(0IETHR) 145,000 146,500 A 1,500
= 43,500
Al 101,500
301 LPEAZ 145,000 146,500 A 1,500
< 43,500
Al 101,500
01 MEIBEE 2053 145,000 146,500 A 1,500
OAIMOL Ol s4H& 43 500,0008 » 290H 145,000
< 43,500
Al 101,500
E6MEAS X (XA R) 1,545,000 1,546,500 A 1,500
301 LeEBAF 1,545,000 1,546,500 A 1,500
01 MI28E+06l= 1,545,000 1,546,500 A 1,500
OXMOL =MoL SL&EAS
500,000& * 2,800 1,400,000
OAITOL Ol& S4H& 43 500,0008 » 290 145,000
N2ZEE3 =t 86,000 413,000 A 327,000
S3E A 29 N& 86,000 0 86,000
201 Let24d] 38,000 0 38,000
01 At 22/l 38,000 0 38,000
O238 A Eda 5 HS 7L 30,000
O33E HAE A& 29 2l 8,000
307 21201 A 48,000 0 48,000
05 RIZt2lEt = 48,000 0 48,000
OBZE AT 29 =3
400,000& = 120A 48,000
23t =sXHA 970,749 811,252 159,497
J| 294,449
< 155,895
Al 520,405
Ct2stots E435 At g 585,899 493,896 92,003
J| 292,949
< 87,886
Al 205,064
307 21201 A 585,899 493,896 92,003
J| 292,949
< 87,886
Al 205,064
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2H: A0S D
o }E=XSE

=

SHel: 2SR (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
11 AISI S XA E = 585,899 493,896 92,003
OUIsIE S83 At Y 585,899
—UE3IE 42 uSAY 333,184
| 166,592
< 49,978
Al 116,614
-C23tE Atdl2tel XI& 31,825
| 15,912
= 4,774
Al 11,139
-Z2S012X H&2s XA 25,000
| 12,500
= 3,750
Al 8,750
-—ZS0/2N SHA MHIA KA 60,100
| 30,050
< 9,015
Al 21,035
-O23IE JdAHgeE N2 105,720
| 52,860
< 15,858
Al 37,002
-0l50 JIIFEI L MY 30,070
| 15,035
= 4,511
Al 10,524
23 SN AL (01X SA) 218,330 150,756 67,574
= 67,559
Al 150,771
301 LEPEAF 43,400 42,000 1,400
< 13,020
Al 30,380
12 JIEtE 43 43,400 42,000 1,400
O ZE0/2 X 02 ZA=E XN& 43,400
< 13,020
Al 30,380
307 gl2tol & 174,930 108,756 66,174
< 54,539
Al 120,391
10 M3 SXNANEHIS2IHEXS 36,400 15,600 20,800
OALINEFURSIINEXNJAEEH SAR = 36,400
< 10,920
Al 25,480
11 AISI S XA E X 138,530 93,156 45,374
OZE0F=0YE AEFRE2 =FAMNY 5,000
OURSINEXNE S=AHALY 20,000
< 6,000
Al 14,000
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2H: A0S D
o }E=XSE

=

R U2 IEXA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OONEZE00N U2a I=NAME Je e 17,730
=} 5,319
Al 12,411
OZE0|2 X dKROJ| d=AHHA XS 78,000
= 23,400
Al 54,600
OOIZE00 REZT2I 17,800
= 8,900
Al 8,900
23 JIEXE A (A THA) 93,520 96,600 A 3,080
201 2Et24Hy| 6,720 5,600 1,120
01 AP 22| d| 3,120 2,000 1,120
OUESSIEXNA 222 & M 2,000
OUSSIIIEXNAE s EFA&LH
70,0003 = 8™H~* 23| 1,120
02 224 H| 3,600 3,600 0
ONZCL23ITAIES A3H| 3,600
202 o4 | 1,200 2,800 A 1,600
01 2Ll 1,200 2,800 A 1,600
OIJIEXNE g2 =& oyl 300,000 = 4% 1,200
301 et M= 11,000 13,600 A 2,600
01 Ml EXEE 4562 10,000 13,000 A 3,000
OZE0|2AH ¥ T2t JIsiE S|
X & 500,000 * 20H 10,000
09 #HAIAHI XIS 2 1,000 600 400
OUSSIEXNE A BA BA
20,0008 = 50H 1,000
307 QI2t0| & 74,600 74,600 0
02 QI2tAMAIE E X 15,000 15,000 0
OUSsIE, SCY=F4H U A= =0l
ANSIEESAE AME 29 15,000
5,000,0008 * 3JHAIEL
10 M SXAEEHESIGHEX 30,600 30,600 0
OAHALINEUSIINIESNIAHLE SAX HR2HH
X & 30,600
11T A EXAIEEX 29,000 29,000 0
OXFE s 29 14,000
OMMHFIE U2 JIE U= 10,000
OtUes Ea=NE 2,000
OUEs AMAEHZEY 29 3,000
CESIIIEXNMYH d9E 29 70,000 70,000 0
307 2I2t0| & 70,000 70,000 0
05 QIZ2tEF 2 70,000 70,000 0
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2N

O &0ts 1

=

B HERASE
=?e U23ItER 2 (22 &d)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OU=SIIERNAME AHE 29 70,000
HOols 2201504 COISAY 3,000 0 3,000
Jl 1,500
= 450
Al 1,050
307 glztol & 3,000 0 3,000
Il 1,500
= 450
Al 1,050
M ASIMSER 3,000 0 3,000
OO0t 2801704 UOISAHEY 3,000
Il 1,500
S 450
Al 1,050
A=RUAFUSXEH 147,000 136,000 11,000
& 13,500
Al 133,500
o= FeUXRH K& A 82,000 82,000 0
307 212t0l & 82,000 82,000 0
02 1P A AL B X 82,000 82,000 0
OEEY=R Y=Y YERSXEY 82,000
=l 22X SR S (EHEX) 45,000 42,000 3,000
< 13,500
Al 31,500
307 glztol & 45,000 42,000 3,000
< 13,500
Al 31,500
02 I BAAMAEE 9,000 6,000 3,000
OAR22T B2 nASY
3,000,000& = 3o A 9,000
S 2,700
Al 6,300
04 QIZtHAALRE 2 & 36,000 36,000 0
OA=2 22X =23 2,000
£ 600
Al 1,400
OAZQU22X (%) S =H 34,000
= 10,200
Al 23,800
=l 22X SA SA(MHHMME) 20,000 12,000 8,000
301 LetENZ 10,000 0 10,000
01 MBIEEZ X +0l= 10,000 0 10,000
O=ax0 S NIANE 2E 10,000
307 glztol & 10,000 12,000 A2,000
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2AM: d-80ts
¥ JIE=ENSA
EE R ELETE Y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
02 QI AAIE E X 10,000 12,000 A 2,000
Og=022X Jlsus XN 10,000
SFEDII=XH 7,111,303 6,837,981 273,322
J| 4,567,969
& 900,335
Al 1,642,999
SIERIIEANE olsd=dH s XN 5,502,117 5,289,638 212,479
J| 4,401,693
= 550,212
Al 550,212
301 et A =2 5,502,117 5,289,638 212,479
b 4,401,693
& 550,212
Al 550,212
01 Al B & A 462 5,502,117 5,289,638 212,479
OstE2IIE OIs¥=Hl s N 5,502,117
9] 4,401,693
= 550,212
Al 550,212
HAUdstE XA 70,800 114,600 AN 43,800
J| 56,640
= 4,248
Al 9,912
301 et M= 70,800 114,600 N 43,800
J| 56,640
= 4,248
Al 9,912
01 AISIE& A %52 70,800 114,600 N 43,800
OFAUESEERE NE XS 70,800
Il 56,640
& 4,248
Al 9,912
MNAS 2218 X 900,400 857,600 42,800
& 270,120
Al 630,280
301 et A =2 900,400 857,600 42,800
& 270,120
Al 630,280
01 Al B & A 46 2 900,400 857,600 42,800
ONAE St IIE XA S| 24,000
= 7,200
Al 16,800
OMAE StEE2II=E MEXiEe 2 18,000
& 5,400
Al 12,600
OMdASE st8E2IIs e A2 H| 760,000
= 228,000
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2AM: d-80ts
HH: HERASE
S BRRIISI EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 532,000
OMdAS s8I A2 2eld] 12,000
= 3,600
Al 8,400
OMAS SE2IIF s HEHSHSH| 86,400
= 25,920
Al 60,480
OEst22Hs g AA 124,400 125,400 A 1,000
= 37,320
Al 87,080
301 LBt N = 124,400 125,400 A 1,000
o= 37,320
Al 87,080
01 AISIE&E A %52 124,400 125,400 A 1,000
OSNMOIER AtE - AlE R 2H| XI& 8,000
& 2,400
Al 5,600
OonEe Ag=ad X& 2,400
= 720
Al 1,680
O0lEeERIIs MEE XY & 114,000
= 34,200
Al 79,800
AE JIs282d XN (BFREZIIESEXAL) 49,500 25,000 24,500
p] 24,750
= 12,375
Al 12,375
402 IV X0l & 49,500 25,000 24,500
J| 24,750
= 12,375
Al 12,375
02 BIZtXIEANYEX(0OIETH) 49,500 25,000 24,500
QetEERIIIEEXNAE JIsE22H| 49,500
D] 24,750
== 12,375
Al 12,375
NE QAT &g X2 NS (BRRSIHE) 26,000 6,900 19,100
J| 13,000
o 6,500
Al 6,500
307 212t0| & 26,000 6,900 19,100
J| 13,000
= 6,500
Al 6,500
11 A EXAIEEX 26,000 6,900 19,100
OStERIIE=2EXNAE AKX &4 - s XS 26,000
J| 13,000
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SH: oE0S D
B ==X

I
& SR2IHEXH CEE-ED

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 6,500
Al 6,500
SFEIIE=SAAE o0z X& 66,000 66,000 0
J| 46,200
< 5,940
Al 13,860
307 glz2tol & 66,000 66,000 0
J| 46,200
< 5,940
Al 13,860
11T M 2XAFS E X 66,000 66,000 0
OstR2IIEFXAE ool A& 66,000
J| 46,200
< 5,940
Al 13,860
StRERIIE=XNAE EAX HgEHEZ N2 35,000 16,000 19,000
< 10,500
Al 24,500
301 LetBA S 35,000 16,000 19,000
< 10,500
Al 24,500
01 AtSI 2 E & 25l 35,000 16,000 19,000
OStREEIIESXNAE E 22X HEEES
5,000,000& * 7AlCH 35,000
< 10,500
Al 24,500
StREIIE=XANE 29 N& 301,000 300,000 1,000
307 glz2+ol & 301,000 300,000 1,000
10 ALSISXAIEEE 22X 301,000 300,000 1,000
OstRIIE=RAIE 22l 29l 301,000
SFRRIIE=XNANE SR =2 10,400 10,400 0
< 3,120
Al 7,280
307 21201 A 10,400 10,400 0
< 3,120
Al 7,280
10 ALSISXAIEEE2IHEX 10,400 10,400 0
OstREZINEEXNANE SAX =& 10,400
< 3,120
Al 7,280
SFREIINESIAAE MIISRRA 15 HH| 25,686 13,843 11,843
J| 25,686
301 2N = 25,686 13,843 11,843
J| 25,686
0B A =R RAB A4S 25,686 13,843 11,843
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=M 80 S Dt
HH: HERASE
Sl BROIIER CEEEED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

FEAS=ETAE MIASRRY A ZH 25,686
2 20,226
Il 20,226
— 0 H 2,160
2l 2,160
- N2 W= 3,000
Il 3,000
- I =4 300
Il 300

N
Sl
>
id
>
0
e
ox
ton

33,792 30,000 3,792

1
In
0
]
10

o
I=

pal
o

33,792 30,000 3,792

307 21201 & 33,792 30,000 3,792

1A S XA E X 33,792 30,000 3,792
OFEYI Ay 29 33,792

EYAEE Ot XI& 236,689 166,399 70,290
179,655

11,228
45,806

= Hn W

n
o
[>
m
Im
>
©
Ho
08

236,689 166,399 70,290
179,655
11,228
45,806

= M W

AHE OlsSSE ML XA (AY) 36,900 19,600 17,300
29,520
1,845
5,535

ﬂ

= M W

201 fEt2E | 34,400 17,100 17,300
27,520
1,720
5,160

= M W

01 At 22l 34,400 17,100 17,300

OtgAt 20,000
16,000
1,000
3,000
OaaXl & 822 WA 12,000
9,600
600
1,800
BI& =& 200,000& * 32 600
480
30
90

Im
Mo
02
=

= N H Z W

= N W

OSHAEE AR (MRE) DSU(RLZT2R)
400,000% * 3% » 13l 1,200
= 960




AR GRS N S

HMM: SHAEE Ol A
CHR: CEAEIEANY 249 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 60
Al 180
OEZAEE AIYEIDNUS EIH(NEGZ2ZLH)
300,000& = 2% * 13| 600
= 480
& 30
Al 90
202 o4 | 1,500 1,500 0
= 1,200
& 75
Al 225
01 2Ll 1,500 1,500 0
OEHAEE AIY E2FA0H|
500,000 = 3™ 1,500
= 1,200
& 75
Al 225
207 A 30 | 1,000 1,000 0
= 800
= 50
Al 150
02 & A EHH| 1,000 1,000 0
OCEEAEE MAAIAE QX2 44| 1,000
=2 800
o= 50
Al 150
FAHZE OlsSESSAHA KR (A 187,669 132,479 55,190
= 150,135
& 9,383
Al 28,151
201 et 50,844 39,054 11,790
= 40,675
= 2,542
Al 7,627
03 A2 Y| 50,844 39,054 11,790
OEYAEIE 2495 MUlA 24 50,844
= 40,675
& 2,542
Al 7,627
301 et A= 136,825 93,425 43,400
= 109,460
= 6,841
Al 20,524
01 A3 E & A 462 134,120 90,630 43,490
OEEAEE 2295 MHA X 134,120
= 107,296
o=} 6,706
Al 20,118
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AN 6dotsn
dM: CHYAERE Ots XA
Celr CEABEAY 29 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIX A S 2,705 2,795 A 90
O#AIZYE ZHXL EA(SAXE S) 2,705
= 2,164
< 135
Al 406
FAHS OlSSEAMEIA XA (AL 12,120 14,320 A 2,200
201 Let2d] 11,220 12,220 A 1,000
01 At 22l 2,220 2,220 0
OEHAERE HE S| 740,000 = 3H 2,220
03 A2 Z Hl 9,000 10,000 A 1,000
OCSEAEE JISAEY
200,000&  300t= 6,000
OEYAEE MEEDNS MA 3,000
202 o4dl 900 2,100 A1,200
01 = LH o4 1l 900 2,100 21,200
OEHAERE HRFT0HHI 300,000& = 3H 900
ESMZ 147,296,722 139,625,437 7,671,285
= 80,571,823
< 48,907, 166
Al 17,817,733
2FAE X 89,660 73,200 16,460
= 32,600
< 15,680
Al 41,380
ESMY 2435 17,660 18,200 A 540
201 et 14,260 12,400 1,860
01 At 22l 14,260 12,400 1,860
OESAY Ot [ & 9,000& * 5008 4,500
OEsSnAF ARt wif g2t
9,000& * 5008 4,500
OfI=Zd & E&& M= 10,000& * 700K 700
OSSHULAAL 5o&M 29 X3
70,000 = 7H « 43| 1,960
O=2Z380e0d a2 =2 2,600
202 04l 1,800 4,200 A 2,400
01 = LH 4 HI 1,800 4,200 A 2,400
ESIIE gRFT o4l 300,000& » 69H 1,800
301 LEEHZ 1,600 1,600 0
12JEEd= 1,600 1,600 0
Od= FUMoSESMNSII2 €23 F4H|
80,000& = 209H 1,600
FR2LHYEE 2 (X) 28,000 10,000 18,000
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X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

0l &t o

=

i
2m

= Hn

14,000
7,000
7,000

= N H

28,000
14,000
7,000
7,000

,000

18,000

= N H

28,000
28,000

14,000
7,000
7,000

,000

18,000

SEAY BA 2L DS

13,000

,000

13,000

,000

13,000
4,000
3,000
6,000

13,000

= N W

31,000
18,600
8,680
3,720

32,

000

A 1,000

307 212t0l &

= N W

31,000
18,600
8,680
3,720

32,

000

A 1,000

1A SXAIE 2 =

odgold W@ BE+ust

= MW

31,000
31,000

18,600
8,680
3,720

32,

000

A 1,000

H

1o
o
0]
P
0x

= MW

1,910,900
955,450
477,725
477,725

3,063,

327

A 1,152,427

=)
o
=}
i
1]
0
=
x

= MW

116,000
58,000
29,000
29,000

303,

327

N 187,327

401 AIEHIZ 2 I

= N W

52,000
26,000
13,000
13,000

60,

000

A 8,000

01 A& HI
OFREXHN0E HE2=>

52,000
52,000
26,000

60,

000

A 8,000
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X ZH -
L= B

el

ni;

HH 2
Ao o ox
> o

0 02 O

I

EES (&

I'

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

13,000
13,000

= H

402 2I2tXt=01& 64,000 243,327 A179,327
32,000
16,000
16,000

= M W

02 QI2tAE ALY ) 64,000 243,327 A179,327
OFRXNANE0E HE=Hl S 64,000
32,000

,000
16,000

= N W
>

W
0

v
=)
o
(=)

A

S 1,720,000 2,760,000 1,040,000
860,000
,000
430,000

= N W
~
w
S

201 LEt2E | 400,000 600,000 200,000
200,000
,000
100,000

= N}
)
S

01 At 2teltl 400,000 600,000 200,000
o #JIgx 253
100,000,000 * 40K 2~ 400,000

200,000
100,000
100,000

= HnH

402 212t A= 01 & 1,320,000 2,160,000 A 840,000
660,000
330,000
330,000

= N H

02 (I 2AILE X (01 ETHR) 1,320,000 2,160,000 840,000
O3sF=HU &+ oeold el28d K&
110,000,000 * 30H 2 330,000

165,000
,500
82,500

= N H
R

O3s=HU JI& oeold el28d K&

110,000,000& * 400 & 440,000
220,000
,000
110,000

= H
3

Ongold HIIYx el28d K&

110,000,000 * 40K 2~ 440,000
220,000
110,000
110,000
OJIXM Hl XI&  10,000,000& * 110424 110,000
55,000
27,500
27,500

= N H

= M W
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H: EFAS
oo 2S8Y X4 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S&EA JIXM X3 74,900 0 74,900
= 37,450
& 18,725
Al 18,725
402 BI2H X 20| M 74,900 0 74,900
= 37,450
= 18,725
Al 18,725
02 CIZEXIE A EX (0| XM THL) 74,900 0 74,900
OB=Al IR N 74,900
= 37,450
=} 18,725
Al 18,725
Helold 24 145,296, 162 136,488,910 8,807,252
= 79,583,773
& 48,413,761
Al 17,298,628
2N 2A0|E 2YHI(ZAEX) 252,000 320,000 A 68,000
= 151,200
& 70,560
Al 30,240
307 gizto| A 252,000 320,000 A 68,000
= 151,200
& 70,560
Al 30,240
10 MM SAANEEHESIGHEX 252,000 320,000 A 68,000
OB380e ol &9l 252,000
= 151,200
= 70,560
Al 30,240
228020/ 2SIt (KHMTH) 32,250 32,000 250
307 2I2t0| & 32,250 32,000 250
10 Al SEXNANEEHE2IH EX 32,250 32,000 250
OZ228020|2 28 (MHAMY)
15,000& * 2,150 32,250
OHEl0lE 2N (sHEATHHIRIO0IA) 11,880 13,700 A 1,820
= 7,128
= 3,327
Al 1,425
307 QI2t0| ™ 11,880 13,700 A 1,820
= 7,128
& 3,327
Al 1,425
10 A SXNANEEHESIHEX 11,880 13,700 A 1,820
OsHE &AM goloelol® X
990,000 = 1200 € 11,880
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AN 6dotsn
HE: 2R
Sl Ol2l0lE 29 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 7,128
< 3,327
Al 1,425
Heols el X2 (XM 378,700 370,000 8,700
307 gl2tol & 378,700 370,000 8,700
10 AL SXNAIEEE2EHEX 365,400 360,000 5,400
OXFOE0E 2gH X
30,450,000& = 1203 365,400
11T M SXAISE EX 13,300 10,000 3,300
Ongolsd AlHsII2 Z3H X&
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